PROJECT: Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations PROJECT NO.: STP-0700(089) NET LENGTH: Area 2 ISLAND: Kauai DISTRICT: Area 2 TYPE CODE: 05-4R DATE ADVERTISED: November 3, 2022 BID OPENED: December 8, 2022 COMPLETION TIME: One Year				Hi'ilawe Construction, LLC		Jas W. Glover		Grace Pacific LLC		Road Builders Corporation*		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	FA	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.00
301.0100	Hot Mix Asphalt Base Course(up to 6" thickness)	919	TN	\$240.00	\$220,560.00	\$235.00	\$215,965.00	\$316.00	\$290,404.00	N/A	N/A	\$180.00	\$165,420.00
	Hot Mix Asphalt Base Course (greater than 6" up to 12" thickness)	1,839	TN	\$240.00	\$441,360.00	\$245.00	\$450,555.00	\$439.00	\$807,321.00	N/A	N/A	\$180.00	\$331,020.00
401.0400	HMA Pavement, Mix No. IV (up to 3" thickness)	1,092	TN	\$273.50	\$298,662.00	\$255.00	\$278,460.00	\$319.00	\$348,348.00	N/A	N/A	\$250.00	\$273,000.00
401.0402	HMA Pavement, Mix No. IV (greater than 3" up to 6" thickness)	1,817	TN	\$273.50	\$496,949.50	\$295.00	\$536,015.00	\$329.00	\$597,793.00	N/A	N/A	\$250.00	\$454,250.00
401.0410	PMA Pavement, Mix No. IV PG 64E-22	2,239	TN	\$305.00	\$682,895.00	\$285.00	\$638,115.00	\$367.00	\$821,713.00	N/A	N/A	\$300.00	\$671,700.00
401.0500	HMA Pavement, Mix No. V Leveling	1,629	TN	\$252.00	\$410,508.00	\$295.00	\$480,555.00	\$379.00	\$617,391.00	N/A	N/A	\$300.00	\$488,700.00
401.0900	Pavement Smoothness Incentive	Allow	Allow	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.00
401.0910	Third-Party Profile Testing and Equipment	Allow	Allow	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	N/A	N/A	\$20,000.00	\$20,000.00
401.0920	Third-Party Dispute Resolution Profile Testing	Allow	Allow	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	N/A	N/A	\$20,000.00	\$20,000.00
404.0100	Slurry Seal	150,000	SY	\$14.60	\$2,190,000.00	\$13.15	\$1,972,500.00	\$15.50	\$2,325,000.00	N/A	N/A	\$13.30	\$1,995,000.00
408.0100	Crack Seal – Less than 1/2"	18,000	LF	\$6.45	\$116,100.00	\$11.20	\$201,600.00	\$7.00	\$126,000.00	N/A	N/A	\$10.60	\$190,800.00
408.0200	Crack Seal – 1/2" to 3/4"	18,000	LF	\$6.25	\$112,500.00	\$7.00	\$126,000.00	\$6.50	\$117,000.00	N/A	N/A	\$10.60	\$190,800.00
414.0110	Excavation of Weakened Pavement Areas	1,257	CY	\$118.00	\$148,326.00	\$255.00	\$320,535.00	\$167.00	\$209,919.00	N/A	N/A	\$140.00	\$175,980.00

Sheet No. 1 of 4 Sheets

	TABULATION OF BIDS											1	
	Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations												
PROJECT NO.:	STP-0700(089)												
NET LENGTH:	Area 2											STATE C	OF HAWAII
ISLAND:				Hi'ilawe Co		Jas W.	Glover	Grace Pa	cific LLC	Road Builders	Corporation*		MENT OF
DISTRICT:				LL	C								ORTATION YS DIVISION
TYPE CODE:	03-4R											HIGHWAI	
DATE ADVERTISED:													
BID OPENED:	December 8, 2022												
COMPLETION TIME:	One Year												
		APPROX.											
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
415.0110	Cold Planing	3016	SY	\$11.60	\$34,985.60	\$49.00	\$147,784.00	\$21.00	\$63,336.00	N/A	N/A	\$10.00	\$30,160.00
604.4010	Adjusting Manhole Cast Iron Frame and Cover	10	EA	\$4,570.00	\$45,700.00	\$5,000.00	\$50,000.00	\$13,100.00	\$131,000.00	N/A	N/A	\$5,000.00	\$50,000.00
613.0100	Centerline and Reference Survey Monuments	10	EA	\$4,570.00	\$45,700.00	\$5,000.00	\$50,000.00	\$7,410.00	\$74,100.00	N/A	N/A	\$2,500.00	\$25,000.00
613.0200	Reconstructing Centerlime and Reference Survey Monuments	10	EA	\$9,000.00	\$90,000.00	\$7,000.00	\$70,000.00	\$12,850.00	\$128,500.00	N/A	N/A	\$2,500.00	\$25,000.00
615.0100	16-Inch Milled Rumble Strip, Centerline	30000	LF	\$1.70	\$51,000.00	\$3.39	\$101,700.00	\$2.00	\$60,000.00	N/A	N/A	\$5.00	\$150,000.00
615.0110	12-Inch Milled Rumble Strip, Edgeline	42000	LF	\$1.25	\$52,500.00	\$3.39	\$142,380.00	\$1.50	\$63,000.00	N/A	N/A	\$5.00	\$210,000.00
	Vehicular Counting and Classification System Sensor Replacement	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
629.1000	4-Inch Pavement Striping (Thermoplastic Extrusion)	880	LF	\$1.55	\$1,364.00	\$5.20	\$4,576.00	\$2.00	\$1,760.00	N/A	N/A	\$4.00	\$3,520.00
629.1006	4-Inch Pavement Striping (Thermoplastic Hot Spray)	100	LF	\$8.75	\$875.00	\$5.20	\$520.00	\$10.40	\$1,040.00	N/A	N/A	\$4.00	\$400.00
629.1008	4-Inch Pavement Striping (Profiled Thermoplastic)	630	LF	\$1.90	\$1,197.00	\$30.00	\$18,900.00	\$2.50	\$1,575.00	N/A	N/A	\$4.00	\$2,520.00
629.1010	Double 4-Inch Pavement Striping (Thermoplastic Extrusion)	3000	LF	\$3.40	\$10,200.00	\$4.02	\$12,060.00	\$4.00	\$12,000.00	N/A	N/A	\$7.00	\$21,000.00
629.1016	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	19950	LF	\$2.50	\$49,875.00	\$4.02	\$80,199.00	\$3.00	\$59,850.00	N/A	N/A	\$7.00	\$139,650.00
629.1020	6-Inch Pavement Striping (Thermoplastic Extrusion)	50760	LF	\$1.70	\$86,292.00	\$3.00	\$152,280.00	\$2.00	\$101,520.00	N/A	N/A	\$4.00	\$203,040.00
629.1026	6-Inch Pavement Striping (Thermoplastic Hot Spray)	6000	LF	\$2.50	\$15,000.00	\$3.00	\$18,000.00	\$3.00	\$18,000.00	N/A	N/A	\$4.00	\$24,000.00
629.1030	8-Inch Pavement Striping (Thermoplastic Extrusion)	600	LF	\$2.60	\$1,560.00	\$5.00	\$3,000.00	\$3.00	\$1,800.00	N/A	N/A	\$5.00	\$3,000.00
												Shoot No. 2 of	

	TABULATION OF BIDS			1								1	
	Asphalt Pavement Preservation, Resurfacing, and Reconstruction at Various Locations STP-0700(089)	-											
NET LENGTH: Area 2 ISLAND: Kauai DISTRICT: Area 2				Hi'ilawe Construction, LLC		Jas W. Glover		Grace Pacific LLC		Road Builders Corporation*		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
TYPE CODE:	05-4R											HIGHWAY	YS DIVISION
DATE ADVERTISED: BID OPENED:	November 3, 2022 December 8, 2022												
COMPLETION TIME:	One Year												
		APPROX.											
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1036	8-Inch Pavement Striping (Thermoplastic Hot Spray)	9240	LF	\$2.40	\$22,176.00	\$5.00	\$46,200.00	\$3.00	\$27,720.00	N/A	N/A	\$5.00	\$46,200.00
629.1050	12-Inch Pavement Striping (Thermoplastic Extrusion)	30	LF	\$28.70	\$861.00	\$40.00	\$1,200.00	\$34.30	\$1,029.00	N/A	N/A	\$7.00	\$210.00
629.1100	Pavement Word (Thermoplastic Extrusion)	10	EA	\$379.50	\$3,795.00	\$490.00	\$4,900.00	\$453.00	\$4,530.00	N/A	N/A	\$500.00	\$5,000.00
629.1110	Pavement Arrow (Thermoplastic Extrusion)	10	EA	\$379.50	\$3,795.00	\$517.00	\$5,170.00	\$453.00	\$4,530.00	N/A	N/A	\$500.00	\$5,000.00
629.1120	Pavement Symbol (Thermoplastic Extrusion)	10	EA	\$379.50	\$3,795.00	\$490.00	\$4,900.00	\$453.00	\$4,530.00	N/A	N/A	\$500.00	\$5,000.00
629.1130	Yield Line (Thermoplastic Extrusion)	10	LN	\$379.50	\$3,795.00	\$517.00	\$5,170.00	\$453.00	\$4,530.00	N/A	N/A	\$700.00	\$7,000.00
629.1140	Crosswalk Marking (Thermoplastic Extrusion)	10	LN	\$533.00	\$5,330.00	\$600.00	\$6,000.00	\$637.00	\$6,370.00	N/A	N/A	\$700.00	\$7,000.00
629.1150	Thermoplastic Rumble Bars	1080	LF	\$41.00	\$44,280.00	\$52.00	\$56,160.00	\$49.00	\$52,920.00	N/A	N/A	\$10.00	\$10,800.00
629.2020	Type C Pavement Marker	3600	EA	\$3.60	\$12,960.00	\$12.62	\$45,432.00	\$4.50	\$16,200.00	N/A	N/A	\$5.00	\$18,000.00
629.2030	Type D Pavement Marker	4800	EA	\$3.60	\$17,280.00	\$12.62	\$60,576.00	\$4.50	\$21,600.00	N/A	N/A	\$5.00	\$24,000.00
629.2040	Type F Pavement Marker	12	EA	\$27.70	\$332.40	\$58.00	\$696.00	\$33.00	\$396.00	N/A	N/A	\$5.00	\$60.00
629.2050	Type H Pavement Marker	100	EA	\$4.65	\$465.00	\$40.20	\$4,020.00	\$5.50	\$550.00	N/A	N/A	\$5.00	\$500.00
629.3100	Removing and Disposing of Existing Pavement Striping	90000	LF	\$2.05	\$184,500.00	\$3.41	\$306,900.00	\$2.50	\$225,000.00	N/A	N/A	\$3.00	\$270,000.00
629.3110	Removing and Disposing of Existing Pavement Words	10	EA	\$307.50	\$3,075.00	\$445.00	\$4,450.00	\$367.00	\$3,670.00	N/A	N/A	\$100.00	\$1,000.00
629.3120	Removing and Disposing of Existing Pavement Arrows	10	EA	\$307.50	\$3,075.00	\$419.00	\$4,190.00	\$367.00	\$3,670.00	N/A	N/A	\$100.00	\$1,000.00
629.3130	Removing and Disposing of Existing Pavement Symbols	10	EA	\$307.50	\$3,075.00	\$419.00	\$4,190.00	\$367.00	\$3,670.00	N/A	N/A	\$100.00	\$1,000.00
L		1	ļ	ļļ					<u> </u>		<u> </u>	Sheet No. 3 of	

Sheet No. 3 of 4 Sheets

629.3150 Removing and Disposing of Existing Crosswalk Markings 10 LN \$307.50 \$3,075.00 \$3,67.00	PROJECT NO.: NET LENGTH: ISLAND DISTRICT TYPE CODE DATE ADVERTISED	: Kauai : Area 2 : 05-4R : November 3, 2022 : December 8, 2022				onstruction, _C	Jas W.	Glover	Grace Pa	cific LLC	Road Builders	s Corporation*	STATE OI DEPARTI TRANSPO HIGHWAYS	MENT OF
Bath of the set of the s	ITEM NO.	ITEM		UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.3200 Removing and Disposing of Existing Povement Markers 100 EA \$6.15 \$6.100.00 \$6.100.00 \$6.100.00 \$6.100.00 \$6.100.00 \$6.000.00 \$6.000.00 \$6.000.00 \$6.000.	629.3140	Removing and Disposing of Existing Yield Line Markings	10	LN	\$307.50	\$3,075.00	\$419.00	\$4,190.00	\$367.00	\$3,670.00	N/A	N/A	\$300.00	\$3,000.00
632.0122 Reflector Marker (RM-3 with Flexible Delineator) 10 EA \$156.00 \$350.00 \$350.00 \$428.00 \$4,280.00 N/A N/A \$50.00 \$50.00 \$50.000 \$10,000.00 \$100,000.00 <td>629.3150</td> <td>Removing and Disposing of Existing Crosswalk Markings</td> <td>10</td> <td>LN</td> <td>\$307.50</td> <td>\$3,075.00</td> <td>\$525.00</td> <td>\$5,250.00</td> <td>\$367.00</td> <td>\$3,670.00</td> <td>N/A</td> <td>N/A</td> <td>\$300.00</td> <td>\$3,000.00</td>	629.3150	Removing and Disposing of Existing Crosswalk Markings	10	LN	\$307.50	\$3,075.00	\$525.00	\$5,250.00	\$367.00	\$3,670.00	N/A	N/A	\$300.00	\$3,000.00
636.1000 Additional E-Construction Programs, Additional Licenses, or Additional Equipment. FA FA \$10,000.00 </td <td>629.3200</td> <td>Removing and Disposing of Existing Pavement Markers</td> <td>100</td> <td>EA</td> <td>\$6.15</td> <td>\$615.00</td> <td>\$8.38</td> <td>\$838.00</td> <td>\$7.50</td> <td>\$750.00</td> <td>N/A</td> <td>N/A</td> <td>\$1.00</td> <td>\$100.00</td>	629.3200	Removing and Disposing of Existing Pavement Markers	100	EA	\$6.15	\$615.00	\$8.38	\$838.00	\$7.50	\$750.00	N/A	N/A	\$1.00	\$100.00
Licenses, or Additional Equipment FA FA FA \$100,000.00	632.0122	Reflector Marker (RM-3 with Flexible Delineator)	10	EA	\$156.00	\$1,560.00	\$350.00	\$3,500.00	\$428.00	\$4,280.00	N/A	N/A	\$50.00	\$500.00
671.1000 Protection of Threatened and Endangered Species FA FA \$50,000.00	636.1000	•	FA	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	N/A	N/A	\$10,000.00	\$10,000.00
697.1000 Surveying FA FA \$50,000.00 \$50,00	645.2000	Traffic Control	FA	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	N/A	N/A	\$100,000.00	\$100,000.00
A. Sum of All Items \$6,475,023.50 \$7,195,631.00 \$7,921,655.00 \$0.00 \$6,782,330 B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in '0') or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A) \$0.00 </td <td>671.1000</td> <td>Protection of Threatened and Endangered Species</td> <td>FA</td> <td>FA</td> <td>\$50,000.00</td> <td>\$50,000.00</td> <td>\$50,000.00</td> <td>\$50,000.00</td> <td>\$50,000.00</td> <td>\$50,000.00</td> <td>N/A</td> <td>N/A</td> <td>\$50,000.00</td> <td>\$50,000.00</td>	671.1000	Protection of Threatened and Endangered Species	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in '0') or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A) \$0.00<	697.1000	Surveying	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	N/A	N/A	\$50,000.00	\$50,000.00
Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A) C. Amount for Comparison of Bids (A + B) \$6,475,023.50 \$7,195,631.00 \$7,921,655.00 \$0.00 \$6,782,330. I certify that this is a true and correct tabulation of bids for this project.		A. Sum of All Items				\$6,475,023.50		\$7,195,631.00		\$7,921,655.00		\$0.00)	\$6,782,330.00
I certify that this is a true and correct tabulation of bids for this project. * Road Builders Corporation bid is rejected due to failure to submit Proposal Exist Xit Jan 25, 2023						\$0.00		\$0.00		\$0.00		\$0.00)	\$0.00
I certify that this is a true and correct tabulation of bids for this project. Proposal Jan 25, 2023		C. Amount for Comparison of Bids (A + B)				\$6,475,023.50		\$7,195,631.00		\$7,921,655.00		\$0.00)	\$6,782,330.00
											rejected due to fa	-	S	
				-	-									